Mercedes Sprinter,
(rok prod.1995-),

M10X80

R

Fi10X30

i

6) ’
&

M10x35

M10X35

NG
N

|

M16X45

Zestaw Srubowy:

M16X45 2 szt.
M10X35 8 szt.
M10X80 8 szt.

Podkfadki:
Fi10X30 8 szt.
Fi10 16 szt.
Fi16 2 szt.
Sprezynowki:
Fi16 2 szt.
Fi10 16 szt.
Nakretki:

M10 12 szt.
M16 2 szt.

BAK-POILS
BlzUB

Fi10X30

M10X35

Moment skrecajacy dla Srub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.

M10X80

)

8 <\1 a ‘
7 a %/

b

@

M10x35




